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2. P=a>+4a’b+2ab?, Q = -2a®b + 3ab®> - 1> 4 W, 3P -20E5

A AtSHH?
@ 3a3 +12a2%b + 2b3 @ 3a3 - 12a%b + 23
@3a3 + 16a%b + 2b° @ 3a® + 84%b + 2b°

® 3a® - 8a®b + 2b°

3(a® + 4a®b + 2ab?) — 2(-2a?b + 3ab® - b*)
= 3a3 + 12a%b + 6ab® + 4a®b — 6ab* + 2b°
= 3a3 + 16a%b + 2b3




3. FUHA=5x+12-6x+7, B=2x>-4x?-1°] t5}te] 24 - 3B
£ AL Aol A X2 0] Al dukelzh?

@14 @ -12 ® 4 @ 17 ® 18

2A - 3B
=2(5x3 +x2 —6x+7) - 3(2x3 —4x* - 1)
=4x% + 14x% - 12x + 17
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2A — 3B=2(x?) — 3(—4x?) = 2x% + 12 = 1442




ohe 3 ot o] AN AT 2R AL

@ (bx-y)+(3x—2y) =8x-3y
@ (B5x®+x2—6x+7)—(2x3 —4x? 1) = 3x> + 5x2 — 6x + 8
@ (xy +xy? = x%) = (32 — xy)

= 2xy + xy? — 4x?

@(x2 +1)(3x% -2x-1)
=3x*-2x3-2x2 +2x -1

©® (x* =3x° = 2°) + (x +y) = 2% —xy - 2y°

(2 +1)(3x* —2x-1) =3x*—2x3 + 2x? —2x -1
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® -5x+1 @ -x+1 ® 5x+1
@ x+1 (@)—7x+1

2x% - 3x + 12 x? + 22 23 HrolA] 73
¢ 2x, WA =T+ 1
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@ (ax-2)+ (7-2x) = 2x-5
(6% +2y%) =20 = 3x%) = 7a°
® (x+y)* =x"+ 3% + 307 +y°
@ (x+y+2)? =22+ +2° + 20y + 2z + 2

® (FP+1)+(x+1)=x-x+1

O (4x-2)+(7T-2x)=2x+5
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1999 x 2001 o] 3f= Fote] & off, 714 A

® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab + b?

@) (a-b)(a+b)=a?-p?

@ (x+a)(x+b) = x>+ (a+ b)x +ab

® a* +b? = (a+b)? - 2ab
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1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12
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(Axt = 525 4 3x2 —dx + 1) = (22 - x + 1) S A4 shge o, 23}
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@4x2—6x+1 @ 4x2-7x+3 ® 4x2—4x+5

@ 4x2-8x+2 ® 4x2 -6x+7
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ST YR Y] T 4x? - 6x+ 1




11. oA f(x) & 262 + 3x+ 22 U H Y Ho] 3x—40]31, Y™ 2|7t
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
=6x3+x2—4x-3

L f1)=64+1-4-3=0

f(x) = (2x2 +3x+2)(3x—4) + (2x + 5)
fA)=2+3+2)(3-4)+(2+5)=-T+7=0




12.

ohe 2ol AN A

% mmol g

o

olZ Uy 218 A9 AAfstee u, 42

o) AL

® o0

@)

RIN

(x +49)(3%) = (x +)(x - )
:3x2+12xy—x2+y2
= 2x2 + 12xy + 2




13. (P +ax+2)(x2 +bx+2)E ANAS W], 2 3 2] AlFE BF0
o] A sh= 44 a, bell st a+ b 2] 327
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@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1
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2A+ B =2(a+2b) + (2a + 3b)
= (2a + 4b) + (2a + 3b) @ EHjH =
=2a+ (4b+2a)+3b © AEHZ
=2a+ (2a+4b) +3b © WEHZ
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16. x+y+z=1xy+yz+zx =2, xyz=3< ™, (x+ Dy +1(z+1)
o] k& Fotofet

> E.

> ®™e: 7

(x+1Dy+1)(z+1)
=xyz+xy+yz+zax+x+y+z+1
=7
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@ 36 @ 44 @52 @ 68
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19. & +b?>+c?=ab+bc+ca®lil abe =1 4 M, (a® + b3 + )2
& A4retH?

@ 1 @ 4 @9 @ 16 ® 25

B ~
ad+b+c3

= (a+b+c)(a®+b?+ c?—ab - bc - ca) + 3abc
=(a+b+c)x0+3abc=0+3-(1) =3

L@+ + )2 =9

a*>+b*+c?=ab+bc+caa®+b*+c?—(ab+bc+ca)=0
1
§(a—b)2+(b—c)2+(c—a)2} =0

a=b=c—oabc=a*=b=c*=1
@+ +3)2=01+1+1)%2=9
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D xy=-1

@x5 +y5 =86

@ x*+y*=6

® xt4+y'=34

® x5 +y° =198
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O x*+y>=(x+y)°

14 = 23— 3xyx 2
Soxy=-1

@ x2+y? = (x+y)? - 2xy°llAl
¥ +y?=22-2(-1)=

@ x4yt = (x2 + y2)2 — 2x2y2 of| A

@x5+y5=(x +3)(x° +3%) -
Py =6x14- (-1

® 20 430 = (x% +1%)2 — 2x3y3 of| A
X0 +0 =142 - 2(-1)3 = 198
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